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QUESTION 1

Tyler is in the applicaion testing phase of a particular project. He has decided to use the White Box testing method.
Tyler has made a number of changes to his code after some initial tests found some bugs. Tyler now needs to test the
code with those changes in place.

What type of testing is Tyler getting ready to perform?

A. Integration testing

B. Mutation testing

C. Statement coverage testing

D. Branch coverage testing

Correct Answer: B

QUESTION 2

Gerald is a web security consultant for Protectors International. Gerald\\'s main responsibility is to search the Internet for
malicious and deceitful sites that the public should be aware of. Gerald was tipped off about a particular site and is now

looking over its source code in a protected environment. Gerald finds the following snippet particularly interesting. What
has Gerald stumbled upon?

document.write(\\'
\W);

document.hack.submit();

A. Hidden post command
B. Hidden form fields

C. JavaScript hijacking
D. XSS attack

Correct Answer: B

QUESTION 3

What functionality of the Oracle Identity Management system facilitates real-time integration of multiple directories and
user repositories through a single LDAP service?
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A. Access and Identity
B. Virtual directory

C. Federation

D. Provisioning

Correct Answer: B

QUESTION 4

Harold is programming an application that needs to be incorporate data encryption. Harold decides to utilize an
encryption algorithm that uses 4-bit working registers instead of the usual 2- bit working registers. What encryption
algorithm has Harold decided to use?

A. Blowfish

B. RC5

C.RC4

D. RC6

Correct Answer: D

QUESTION 5

Fred is planning on using the windows socket application ClientApp.exe program to create a client-side application that
his employees will use. This program will access backend programs from two different remote sites over WAN
connections. If Fred does not make any modifications to the ClientApp.exe default settings, what port must he have the
network engineer open in order for the application to communicate?

A.21

B. 23

C.25

D. 80

Correct Answer: D
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